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L. (10%) Determine the number of positive integers n where n<10000 and n is not
divisible by 2, 3 or 5.

2. (10%) What is the coefficient of x2y3zzw5 in the expression of
(x+2y-3z+2d+5)!69

3. (10%) Solve the recurrence relation an-32,.1=5(3") for n>1 and =2,

4. (20%) Show that 2 is irrational.
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I'love Lucy.

I'love Lucy if and only if I also love Vivian,
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Let R be a binary relation on the set of all positive integers such that

= {(a,b) | a—bis an odd positive integer}
Is R reflexive? Symmetric? Antisymmetric? Transitive? An equivalence relation? A partial
ordering relation? - Why? (15%)
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